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And if it is not appropriate for eating — 7T995KY 1Y 1K ONY

Overview

There is a method of deriving certain laws through a process called 11°X oX
71v. When the 770 writes something which is seemingly superfluous (as in
our case where the 77w wWX2 by a NXYM is unnecessary), we assign this ruling
to another situation where we are unsure of the ruling. In our X°x10 after we
used one 71y 11X OX to apply 77w WRA to 77IN2W PNOXR 9, the X113 found it
necessary to use an additional 11¥ 1°X aX (that we should not utilize the w2
A for 77°O9R TMO°R, but rather) to teach us 7XI7 TMOX. Our MDD is
perturbed by the need for a second 7°1v 11°X oK.

modoIn presents a difficulty:
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It is not appropriate; for how is it possible to establish the ?05 of 5
77wn WX "2 nXvr, to refer to a prohibition of eating, when it is written in

this 105 that f9wn wWN2, which (has no connection with 772X 710°X but rather) has a
strong inference to 7R3 MOX. There is no need for an additional 71y 11X oX; if we apply
AWN WRA to 77IN2W MoK 93 it is understood that it (at least) includes X3 10°X. Our
mMooIn does not answer this question.

Summary
How could the X773 have thought that the 109 of 77w w2 should apply only

for 1908 MO°R by other 2>M0°KX, when the 7710 mentions W WR2?

Thinking it over

moon asks how can the X713 say (concerning A7 WX) that 1Y 11X OX)
72°2KR7; where does 72°0X enter into the picture if the 770 writes 77w° which
indicates X7 70X, Seemingly M»dOIN question is not understood, for it is
possible that (even though it states 77w wX2) nevertheless one is permitted
to have 79w nywa X7 (as the 7 is by mxnv mmn).> What is msoin
difficulty?!’

!'See w1 on XY 1"7 "W (and LIP MR NN A"N).

% In addition; since AW WX WpA teaches that 79Ww3a PNOK XY 95 1RY, perhaps that removes the DR
X317 entirely and 77w° wR2 would mean only 77°9% OX.

3 See vIP MR NP 2"
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